
EIST	
  5ème	
  –	
  Un	
  changement	
  lent	
  :	
  histoire	
  d’un	
  paysage	
  
	
  
Pendant	
  la	
  sortie,	
  le	
  professeur	
  a	
  dit	
  que	
  le	
  parc	
  de	
  l’Ermitage	
  était	
  sous	
  l’eau	
  il	
  y	
  32	
  
millions	
  d’années	
  !...	
  Stéphanie	
  n’en	
  croit	
  pas	
  un	
  mot.	
  Elle	
  pense	
  que	
  le	
  professeur	
  s’est	
  
trompé	
  en	
  disant	
  cela...	
  
	
  
	
  
A	
  partir	
  des	
  documents	
  fournis,	
  retrouve	
  des	
  indices	
  qui	
  témoignent	
  de	
  cette	
  
histoire	
  et	
  rédige	
  un	
  texte	
  qui	
  permettrait	
  de	
  convaincre	
  Stéphanie.	
  	
  
	
  
Tu	
  as	
  à	
  ta	
  disposition	
  :	
  

-­‐ la	
  carte	
  géologique	
  de	
  Bordeaux	
  ainsi	
  que	
  sa	
  coupe	
  
-­‐ la	
  légende	
  simplifiée	
  de	
  la	
  coupe	
  des	
  terrains	
  géologiques	
  de	
  la	
  CUB	
  
-­‐ la	
  fiche	
  de	
  renseignements	
  sur	
  le	
  calcaire	
  à	
  astéries	
  
-­‐ des	
  échantillons	
  fossiles	
  
-­‐ les	
  cartes	
  d’identités	
  d’êtres	
  vivants	
  actuels.	
  

	
  
	
  
Ta	
  réponse	
  :	
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Aides	
  pour	
  les	
  élèves	
  

	
  
De	
  connaissances	
  :	
  

-­‐ Une	
  coupe	
  est	
  une	
  vue	
  de	
  profil	
  et	
  en	
  profondeur	
  des	
  couches	
  de	
  roches	
  qui	
  
constituent	
  le	
  sous-­‐sol	
  de	
  la	
  région	
  étudiée	
  

-­‐ L’Oligocène	
  inférieur	
  est	
  le	
  nom	
  donné	
  à	
  la	
  période	
  située	
  entre	
  –	
  34	
  et	
  –	
  28	
  
millions	
  d’années	
  

	
  
De	
  méthode	
  :	
  	
  

-­‐ repérer	
  le	
  parc	
  de	
  l’Ermitage	
  à	
  la	
  fois	
  sur	
  la	
  carte	
  et	
  sur	
  la	
  coupe	
  géologique	
  
-­‐ relever	
  l’âge	
  et	
  la	
  nature	
  des	
  roches	
  qu’on	
  trouve	
  au	
  parc	
  de	
  l’Ermitage	
  
-­‐ Faire	
  le	
  lien	
  entre	
  le	
  calcaire	
  présent	
  au	
  parc	
  et	
  le	
  calcaire	
  à	
  astéries	
  pour	
  en	
  

déduire	
  la	
  présence	
  de	
  certains	
  fossiles	
  
-­‐ Appliquer	
  le	
  principe	
  d’actualisme	
  :	
  les	
  êtres	
  vivants	
  fossiles	
  vivaient	
  dans	
  les	
  

mêmes	
  conditions	
  de	
  température	
  et	
  salinité	
  que	
  les	
  êtres	
  vivants	
  actuels	
  
appartenant	
  à	
  la	
  même	
  famille.	
  

	
  
	
  
	
  

Fiche	
  professeur	
  
	
  
Organisation	
  du	
  travail	
  :	
  
Travail	
  en	
  groupes	
  des	
  élèves.	
  
Une	
  réponse	
  par	
  groupe.	
  
	
  
Prévoir	
  :	
  	
  

-­‐ l’échelle	
  des	
  temps	
  géologiques	
  à	
  projeter	
  
-­‐ des	
  échantillons	
  et	
  des	
  cartes	
  d’identité	
  des	
  fossiles	
  tels	
  que	
  huîtres,	
  coraux	
  et	
  

étoiles	
  de	
  mer	
  
-­‐ les	
  cartes	
  de	
  la	
  France	
  aux	
  différentes	
  périodes	
  géologiques	
  pour	
  montrer	
  en	
  

synthèse	
  les	
  déplacements	
  de	
  la	
  ligne	
  côtière	
  au	
  cours	
  du	
  temps.	
  
-­‐ Vidéo	
  sur	
  le	
  processus	
  de	
  fossilisation	
  (processus	
  fossilisation	
  trilobite	
  sur	
  

youtube)	
  
	
  
Notions	
  attendues	
  dans	
  la	
  production	
  écrite	
  :	
  
Au	
  parc	
  de	
  l’Ermitage,	
  on	
  trouve	
  des	
  roches	
  datant	
  de	
  l’oligocène	
  (-­‐32	
  millions	
  
d’années).	
  
Ces	
  roches	
  sont	
  des	
  calcaires	
  à	
  astéries	
  et	
  des	
  marnes	
  lacustres.	
  
	
  
«	
  Calcaires	
  à	
  astéries	
  »,	
  cela	
  signifie	
  que	
  des	
  étoiles	
  de	
  mer	
  ont	
  été	
  piégées	
  dans	
  les	
  
roches	
  en	
  même	
  temps	
  qu’elles	
  se	
  sont	
  formées.	
  
	
  
«	
  Marnes	
  lacustres	
  »,	
  cela	
  signifie	
  qu’il	
  y	
  avait	
  un	
  lac	
  quand	
  ces	
  roches	
  se	
  sont	
  formées.	
  
	
  
D’autres	
  fossiles	
  ont	
  été	
  trouvés	
  dans	
  le	
  calcaire	
  à	
  astéries	
  :	
  des	
  huîtres	
  et	
  des	
  coraux	
  
fossiles.	
  
D’après	
  la	
  carte	
  d’identité	
  de	
  ces	
  êtres	
  vivants,	
  ils	
  vivent	
  actuellement	
  dans	
  l’eau	
  salée	
  
(mer	
  ou	
  océan)	
  à	
  faible	
  profondeur	
  (30	
  m	
  max)	
  et	
  à	
  une	
  température	
  chaude	
  (entre	
  25	
  
et	
  29°C).	
  On	
  peut	
  raisonnablement	
  penser	
  que	
  les	
  êtres	
  vivants	
  fossiles	
  vivaient	
  dans	
  les	
  
mêmes	
  conditions	
  il	
  y	
  a	
  32	
  millions	
  d’années.	
  Cela	
  signifie	
  donc	
  que	
  le	
  parc	
  de	
  l’Ermitage	
  
était	
  en	
  bordure	
  d’océan	
  ou	
  de	
  mer	
  de	
  type	
  tropicale	
  à	
  cette	
  période.	
  
	
  
	
   	
  



	
  

LE	
  CORAIL	
  
	
  
	
  

Coraux	
  massifs	
  actuels	
   Coraux	
  massifs	
  fossiles	
  
	
  

	
  

	
  

	
  
	
  

	
  

De	
  loin,	
  le	
  corail	
  a	
  l’aspect	
  d’un	
  caillou	
  ou	
  d’une	
  grosse	
  pierre.	
  Mais,	
  en	
  vérité́,	
  il	
  est	
  composé	
  
d’animaux	
  très	
  petits,	
  tout	
  mous	
  et	
  très	
  fragiles.	
  Ils	
  ressemblent	
  à	
  des	
  fleurs	
  de	
  quelques	
  
millimètres	
  seulement.	
  Ils	
  forment	
  des	
  colonies	
  de	
  milliers	
  d’individus	
  protégés	
  dans	
  leur	
  
«	
  maison	
  »	
  de	
  calcaire.	
  Ces	
  petits	
  animaux	
  sont	
  appelés	
  des	
  polypes.	
  

Le	
  corail	
  vit	
  dans	
  des	
  eaux	
  salées	
  peu	
  profondes	
  (moins	
  de	
  30	
  m	
  de	
  profondeur)	
  et	
  
transparentes	
  pour	
  répondre	
  à	
  leur	
  besoin	
  en	
  luminosité.	
  Le	
  corail	
  a	
  besoin	
  d’eau	
  chaude	
  
pour	
  survivre.	
  Tout	
  va	
  bien	
  quand	
  la	
  température	
  de	
  l’eau	
  se	
  situe	
  entre	
  25	
  et	
  29°C.	
  C’est	
  
pour	
  cette	
  raison	
  qu’il	
  vit	
  dans	
  les	
  eaux	
  tropicales	
  seulement.	
  Il	
  ne	
  survit	
  pas	
  à	
  moins	
  de	
  18°C	
  
et	
  ne	
  supporte	
  pas	
  non	
  plus	
  une	
  température	
  supérieure	
  à	
  29°C.	
  

	
  

	
   	
  



L’huître	
  
Huître	
  actuelle	
   Huître	
  fossile	
  

	
  

	
  

	
  

	
  

	
  

	
  

	
  

L’huître	
  est	
  un	
  animal	
  de	
  la	
  famille	
  des	
  Mollusques	
  Bivalves	
  car	
  son	
  corps	
  mou	
  est	
  enfermé	
  
dans	
  une	
  coquille	
  constituée	
  de	
  deux	
  valves	
  calcaires.	
  Elle	
  vit	
  dans	
  une	
  eau	
  salée	
  située	
  dans	
  
la	
  zone	
  de	
  balancement	
  des	
  marées	
  :	
  donc	
  plutôt	
  en	
  bordure	
  d’océan	
  ou	
  de	
  mer.	
  

	
  

	
  

	
  

L’étoile	
  de	
  mer	
  
Etoile	
  de	
  mer	
  actuelle	
   Etoile	
  de	
  mer	
  fossile	
  
	
  

	
  

	
  

	
  

	
  

	
  

	
  

Les	
  étoiles	
  de	
  mer	
  ou	
  astérides	
  sont	
  des	
  animaux	
  exclusivement	
  marins	
  (mer	
  ou	
  océan,	
  ils	
  
vivent	
  dans	
  l’eau	
  salée).	
  Ils	
  vivent	
  à	
  des	
  profondeurs	
  pouvant	
  aller	
  de	
  la	
  zone	
  de	
  
balancement	
  des	
  marées	
  à	
  400	
  m	
  de	
  profondeur.	
  Ils	
  peuvent	
  être	
  de	
  forme,	
  couleur	
  et	
  taille	
  
variées.	
  Ils	
  possèdent	
  en	
  général	
  de	
  5	
  à	
  10	
  bras.	
  	
  Ils	
  mesurent	
  entre	
  12	
  et	
  40	
  cm	
  pour	
  les	
  plus	
  
grandes	
  qui	
  vivent	
  en	
  eaux	
  profondes.	
  


